— Subtraction —

Partitioning sets: and learning number facts
e.g. pairs that make 8, 9, 10 etc

-

@)

0= 1+9 248 3+7 O

Seeing 12 as made up of 5 and 7

Counting back/take away/reduction:
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Finding the difference (counting on):

Use of language such as ‘How many more?’ and
‘How much taller?

The difference
between 3 and 8
12-5
@00 0 o
O00 000000000

+7
' .‘/ ‘\4
0 5 12
74 -27
+3 +40 +4

Ve W e W
70

27 30 74

m 61| 62|63 64|65/ 66 67|68 69| 70
71 72| 73] 74| 75| 76| 77| 78| 79 80

24 27 47 81| 82| 83| 84| 85 86| 87| 88| 89| 90
91 92|93/ 94] 95/ 96| 97| 98] 99] 100

Practical subtraction: 72 - 47 = ex-
changing where necessary
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_ This is now “Sixty-twelve”
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Vertical subtraction: Practically alongside recording.
Place value counters can also

be used. Tens Ones
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Vertical subtraction:

Vertical subtraction: in the context of
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Vertical subtraction: _78 12 6\7\ 17 5 —8q\ 12 61 15 B 3 .3&\ 12 8
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